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Wch one of the following is not a type of

sand dune in Rajasthan?
(A) Thali (B) Barkhan
(C) Parabolic (D) Seif
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ﬂya and Chimata are associated w1th

which tribe of Rajasthan?
(A) Meena (B) Bhil
(C) Garasia (D) Sahariya
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Which one of the following (Breed - Animal)
is not matched correctly?

(A) Sanchori - Cattle (B) Mehsana - Buffalo
(C) Sonadi - Sheep (D) Kheri - Goat

Freafoea % & @ w1 (et - q‘ggﬁrﬁ‘m
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The maximum number of dust storms occur
in May and June in which district of
Rajasthan?
(A) Jaisalmer (B) Bikaner

(C) Ganganagar (D) Barmer
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. The'Anatolian Plateau is located in -
(A) New Zealand (B) Turkey
(C) Iran (D) France

India
Mc famous painters who came to -

during Humayun's reign were -

(A) Mohammad Nazir and Abdus Samad
(B) Sayyid Ali and Abdus Samad

(C) Mohammad Nazir and Sayyid Ali

(D) Mansur and Sayyid Ali

T & wreeETe # WRa o drd & TS
R 1 o
() EwIT ol T I .
(C) qe™T ok e Aue el g
(D) HX o1 #IT el

< B&1k drama Charbait s related to which of
the following cities?

(A) Bharatpur (B) Tonk

(C) Udaipur (D) Alwar

ey arRda fha ey | wafrd 87
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8Which of the following is a couple dance?

(A) Chari dance (B) Geendar dance
(C) Shankariya dance (P) Mandal dance
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ho was the architect of Taj Mahal?

(A) Ustad Mansur  (B) Rahim
(C) Ustad Isa (D) Khafi Khan
CTUELR
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10,~The musical instrument, which is played in
Kachchi Godi dance is -
(A) Kamayacha
(C) Jhanjh

(B) Algoja
(D) Surnai
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\\y@/f{/e/mvdiuml ruler who . significantly

contributed in the development of Khayal

style of classical music -
(A) Ibrahim Adil Shah-
(B) Firuz Shah Tughlaq

. (C) Hussain Shah Shargi
(D) Wajid Ali Shah

e A @ Rew # Swadm greE

(A) garfew snfact e
(B) 1ot e qiTeld .

9ME I e
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" “The Mascot of Tokyo Olympics is -
(A) Panda
(C) Miraitowa

(B) Suminski
(D) Eagle

S SAEEH BT BT &

(A) amus] - (B) gfyran
AR (D) g7t
Wdhan Mantri Krishi Sinchai Yojana

- Micro Irrigation (PMKSY-MI) the funding
pattern with respect to centre : state is -

(A) 50:50 (B) 80:20
(C) 60:40 (D) 70:30
¢o

oAl G R | e e R @
fasy urwor 1 ded : S e H E -
(A) 50:50 (B) 80:20
: (D) 70:30

7 As per Agricultural Census 2015-16 total
number of male operational land holdings in
Rajasthan is-
(A) 7.75 Lakhs
(C) 68.66 Lakhs

(B) 196.6 Lakhs
(D) 6.86 Lakhs

15. _Pe Headquarters of Merwara Battalion

formed in 1822 was -
(A) Jahazpur (B) Nasirabad

(C) Beawar (D) Deoli

1822 . % Wfeq iRargr aeifer &1y

w —
%ﬂﬁ

(A) STETOTR

bﬁ}}me (D) gaeh
- The highest peak in Rocky Mountains is -

(A) Mt. Hood (B) Elbert
(C) Blanca (D) Robson

T uddl @ waleg @ & —

(A)y wrave e e
' (€) =i (D) Iqa+
7. THE 'S’ shaped oceanic ridge is -

(A) Prince Edward Ridge
(B) Mid Atlantic Ridge

~ (C) Socotra Ridge
(D) Eastern Pacific Ridge

'S' IR B TETATNT TP & —
(A) e vsas wed
Mﬂ seafied Hedh
(C) HFHIAT Heh :
(D) gt ye FHed
18. ici one of the following (Tropical
\_/gf:l:: - Affecting Area) is not correctly
matched?
(A) Hurricane - Atlantic Ocean
(B) Typhoon - Western Pacific Ocean
(C) Cyclone - Indian Ocean I
(D) Willy-Willies - South China Sea

 frefafaa § @ s (SW1 Bfeaiy. whard
— gifae &) wE gafera & 87
YR — scalded eI
(B) e — Uf¥edl wemid HETETR
(C) TFaTa / WA — B wEmTR
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19 “Vande Bharat Mission’ is related to -
(A) send astronomers on moon
(B) bring back Indian nationals stranded in
foreign  countries  duri ng
pandemic

(€) provide subsistence allowance to aged
women

Covid

(P) make compulsory recitation of Vande
Mataram in all the theatres

T RA Ay w@eg & -

(A) T W oiaRer ar doy 9 -
TR wEd B o e e
 arfat @ afe e @ ,

- ‘Abhanga’ means - .
(A) clothes  worn by the
Maharashtra Dharma

(B) devotional poetry dedicated to Vithoba
(C) residence of Bhakti Saints
(D) literature of Nirguna Saints

ST BT AT § —

(A) o9 & Wl gRT U T g
+(C) wfe wat & arrar

B) fifor wat &t Wit |
\-Xéy;nany urban local bodies have been

eclared open defecation free under
Swachh Bharat Mission (Urban) Phase-I?
(A) 3258 (B) 3974
(©) 4324 (D) 2876

W ARG fee (we®) wxo-l @ sigefa
%ﬁﬁr?@ﬁwﬁuﬁwﬁaﬁaﬁﬁ?ﬁaﬁw
aifud fear mar 22

(B) 3974

(A) 3258 —~~
4324 / (D) 2876

- 'Furious Fifties’ winds are associated with -
(A) westerly winds
(C) polar winds
PR i P ey

(B) tropical cyclones
(D) trade winds

Saints  of -

o hy -
mh one of the following (Topograpiy

Location) is not correctly matched? h to

(A) Bhorat Plateau - Kumbhalgar
Gogunda

(B) Bhakar - East Sirohi

(€) Ramgarh hill - Rajsamand

©) Girwa - Udaipur

FreferfRae 5 @y ar (erampfa — safefa)
S gafer T 27
'QI-A 5.

TR gerd) <

4. x -
‘__,he Sea of Marmara connects

(A) the Black Sea and Aegean Sea
++B) the Black Sea and Mediterranean Sea
) the Caspian Sea and Azov Sea
) the Black Sea and Caspian Sea

) BT WY 3 Tn wER @7
(©) HRaT= | 3R e | B

D) R 3R $fRugs anx 55t
kﬁtﬂbn)ﬂ\.—:}:ose recommendation Abu and
%ﬁlwara Tehsil were merged in Rajasthan?

) Fazal Ali
X¥B) Gokul Bhai Bhatt
¢df) Gurumukh Nihal Singh
g’) Sardar Vallabh Bhai Patel

i
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- 'Ithe first solar power plant under the
PM-KUSUM Scheme has be
at -

(A) Pinan, Alwar
(C) Balesar, Jodhpur

ensetup in India

(B) Bhaloji, Jaipur
(D) Deolia, Jodhpur.
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“ Which tree is called the ‘Flame of the Forest'

in Rajasthan?
(A) Mahua
(B) Khejri

(C) Palash ap)
(©) Dhokra &
o
&N

W#ﬁmﬁsaﬁ SUGHED
=14 am'«s@

2
(A) wigam

(B) @\_ﬂ@ -

o

(D) gramer N

oN

28

ich one of the following (Biosph
Reserve Area - State) is not matc
correctly?
(A) Nokrek - Meghalaya

1663

(B) Manas - Assam ”53
(C) Cold desert - Himachal Pradesh :g
(D) Agasthyamalai - Karnataka &
e 44 @t &1 (e AR
&% — [wY) |El gAfera & &7 e

— RO .
T qéeﬂ b
%wm—g > 0TT o
hich of the following (Ruler - Paintihg
Style) is not correctly matched? Q

(A) Anoop Singh - Bikaner

- (B) Raj Singh I - Nathdwara

() Sawant Singh - Kishangarh

() Vijay Singh - Deogarh |

frafafea % & @@ @ (e — REden
¥Ielt) wer gafera wEl &7

(W) et — G

(B) TgRE 1 — rergr

%ﬂ List ~ 1 with List - Il and select the
correctanswer using the code given helow -

List - 1 (Animal Fair)
1 Veer Tejaji
2 Shivratri
3 Chandrabhaga
4 Mallinath

(i) Barmer

(ii) Bharatpur

(iii) Parbatsar

(iv) Jhalrapatan

Code -

(A) 1-(iii), 2-(ii), 3-(iv), 4-(i)
(B) 1-(i), 2-(ii), 3-(iv), 4-(iii)
(©) 1-(i),.2-(iii), 3-(iv), 4-(ii)
(D) 1-(iii), 2-(i), 3-(iv), 4-(ii)

-1 1 -1 ¥ e B Tor S

Y 7Y e &1 SUAT XD HE SR BT 5T
HIfY —

e R
1 —

2 R — T

3 T gaane 2

4 Woe e —— @\s‘ﬁ(
11 :

(i) TR

(ii) wRAOgR

(iii) URETER

(iv) SeRmaTET

- .

(A) 1-(iii), 2-(ii), 3-(iv), 4-(i)

(B) 1-(i), 2-(ii), 3-(iv), 4-(iii)

(C) 1-(i), 2-(iii), 3-(iv), 4~(ii)

(%i;l-[iii), 2-(i), 3-(iv), 4-(ii)
ich of the following (Book - Author) is

correctly matched?

(A) India Divided - Maulana Azad

(B) India Wins Freedom - Rajendra Prasad
(C) Indian Struggle - Subhas Chandra Bose
(D) Unhappy India - Jawahar Lal Nehru

freferfad § & #= W (gRe — dud) e

gaferd 87

(A) sfrear fFagss — wtarn s

(B) fogyr fama wisw — Imi= Uwre

(c) gfogus e — Y9 a7 a1
gfaszn STATex. SlTel 13?7
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%h dialect did Grierson also call as

dialect of Bhil tribe?

(A) Wagdi
(C) Ahirwati

(B) Dingal
(D) Nimadi

frads A g e @) el a9 areil 9 s
qE?

(B) f3wrer
(D) i

(B) Lahariyas

(C) Angarakhis (D) Dhotis

fAReTE, gas ol < fras THR &7

(A) Tt & (B) erefar &
3 (D) &t &

* As compared to 2001, the sex ratio in urban_
regions of Rajasthan as per census 201 1, has’

been improved by how many females per

1000 males?
(A) 18 (B) 24
(€) 21

(D) 12

2001 1 AT H, 2011 %1 SFIVAT & 3TN,
RTSRAT & e &t F fefwrara ufy 1000

9oul 9¥ fradT At & ser 27

(A) 18 \%T_'- :
) 21 (D) 12
y/l{zamala and llaichi are the foremost women

painters of which school of painting?

(A) Bundi (B) Nathdwara
(C) Kishangarh (D) Jodhpur

FHA A geAEd fha fammen dd @

vy wfger faaan 87
) 41 %m
(C) foperrre (D) Sy
- The Department of Tourism in Rajasthan

was established in -
(A) 1956

oA # yded faant @ vends g¢ o

(B) 1954
(D) 1958

(A) 1956 (B) 1954 4
(©) 1952 (D) 19584
106-A
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'\%}1 List - I with List - Il and select correct

answer using the code given below -
List - I (Saint)
I. . Ramanuja
II. Madhvacharya
1. Nimbarka
IV. Vallabhacharya
List - II (Sect)
(a) Shuddhadvaita
(b) Dvaitadvaita
(c) Vishishtadvaita
(d) Dvaita
Code- .
(A) 1-(c), I1- (d), 11 - (b), IV - (a)
(B) I~ (d), 11 - (c), 111 - (b), IV - (a)
(€ 1-(a), H=(b), - (c),1V- (d)
(®) I-(c), 1= (b), HI = (d), IV - (a)

-1 B G F P A e S

T 1T g B IUEY FE wE = = Tam
Ay — .

o

aie’-_.

A) 1~ (), 1= (d), 111 - (b), 1V - (a)
(B) 1 (d), 11 - (c), 1l - (b, 1V - (o
©) 1-(a), 11~ (b), 11 - (c). IV~ (d)

P - (0 1= (b), 11 - (), 1v - (@)
P4 The new name given 1o the Industry
Department by Rajasthan Governm )

entis -
(A) Industry and Co-operative

Department

{B) |Ill|ll.‘-’l|'_\,J and -l‘l'L'il[]UIUg}' Dt‘l‘»‘il'tn‘lent

(C) Commerce Department

() Industry and Commerce Dt‘})dl‘tl‘nent

VIVIREI SR Y ST fopgp BT :PT[ a1

daeldy v ey ¢

(A) Seilt 3k WewRe farrey

(B) SN Silv crepsirasy fopmy
(C) arforwy faupr ‘
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” The correct increasing order of the 41.
' following three districts of Rajasthan with
minimum population (as per census-2011)
is -
(A) Sirohi > Pratapgarh > Jaisalmer
(B) Jaisalmer > Sirohi > Pratapgarh
(C) Jaisalmer > Pratapgarh > Sirohij

Answer the question based on the set of -
numbers given below -

429 738 273 894 156

If the positions of the first two digits in each
number are reversed, then the difference
between the first digit of the greatest

(D) Pratapgarh > Sirohi > Jaisalmer number as well as of the lowest number is
. equal to -
TAOH § AT @ a i (A) 5
zﬁqﬁiﬂ‘iﬁﬂﬁmm(ﬁﬂm—mﬂ% (B) 6 -
ITER) & — _ (©) 4
> UATTE > SHIeiR ) (D) 7
(B) SiHeR > RRIE > yaryre '
() IR > YIS > R ' Ry T wenst @ wged woamRa
TaTaTeE > RRE > Swenr _ U BT IR Ao —
. If we trave\ along the; Luni River from its 429 738 273 894 156
origin to the end, in which m;der wouid we afe yes W & uuE a1 Pl B wE
findits tributaries? _ | TR qe feaT o €, @ e 9 wen
(1) Jawai ' | @ v sie ok Wew B W & W 3w
(2) Bandi . : ' BT IR W & —
- (3) Sukari y "o _ (A5
(4) Guhiya o E& B
Code - - . (©) 4
(A)3,2,1,4 (D) 7
®) 42,31 42. -[n a certain code, DEAF is written as 3587
©1,234 and FILE is written as 7465. How is IDEAL
(D) 4,3,2,1 written in that code?
T R
T T D E, A e A FEr el (©) 43586
1 1% o (D) 43568
(1) wrarg
(2) Ay _ e fadiy B8 #, DEAF @ 3587 forad & e
(3) st © FILE @1 7465 R o 21 gw a¢ (919)
:E)_g%m ¥ IDEAL @1 &4 ford?
(;, 3214 (A) 63648
(®) 4,231 - (B) 63854
1,2,3,4 ' - (C) 43586
(D) 4,321 , (D) 43568
-106-A : . Page 7 of 16
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43.

45.

Here, a statement is followed by some

conclusions. Choose the conclusion which

logically follows from the given statement -

Statement : Most of the teachers are

ho%t. Rekha is honest.

Conclusion: ~f

(R) Rekha is a tédeher.

(B) Those whoc~are not honest are not
teachers. ~°

(C) You can only-enefit by being honest.

(D) Some teachersare not honest,

TEl, T HAT @.IvE B e Ry g

#| 9g frpd gAY & aifds wu W Ry v

FUF B A '

HUF : JfAHTY SRAUS SR & | @
SR €Y

e

< <
(A) Y@ TS ST B | -
(B) T $AFER T ¥ A sraAd TE ¥

46. Fill in the missing

value -

(A) 5 (B) 1
(C) 4 (D) 3
o e B o

(C) 379 EHFER &R & o9 IT | & | :gi :E;;
(D) & W%IHER’ At
A lu;e is paintezton all iiils anditis cut ~47.In the following figure number of triangles
into 64 idenfigal smaller .cubes. The .oares
difference betyreen number of smaller
cubes which af-painted on one face and e
two faces, is - m
(A) 8 ~— (B)4 '
€) 12 (D)o )

T (A) 20 (B) 17
U B B aﬁwm%;ﬁs@ (©) .19 (D) 18
64 TH THM =T ¥ @rer |l 8 Uh . : .
Fow Td A BEH W T a B T Pt for % Brpit a1 e € —
AT BT R
(A) 8 L 6y
(C) 12 «— (Do _
Arrange the following words as found in the
dictionary, now what will be the fourth
letter from the left in the last word? (A) 20 (B) 17
INTIMATION, INFORMATION, INTEREST, (C) 19 (D) 18
INTERROGATION, INSTIGATION 48. A s the son of B. C is sister of B. C has son D
(A)T (B) | and daughter E. F is the maternal uncle of D.
(C)R (D) 0 How many nephews does F have?

: . (A) 1 (B) 3
form wredi @1 fegerd & o o & HH A (©) o (D) 2
arafterd @ifore, v sy e 4 ardl oiv A - .
eI el a1 1Y AB @ YA RICB & 98 ) ¢ D
INTIMATION, INFORMATION, INTEREST, M gD ERIED B wen &) pas gﬁ
INTERROGATION, INSTIGATION ol /W @2
(A) T . (B) 1 (A) 1 (B8) 3
(C) R (D) O ©o (D) 2
‘T‘BE:A D Page 8 of 16 e
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49.

51,

p,Q, Rand S are to be Seated in a row. But R
and S cannot be together, Also, Q cannot be

at the third place, the ;
. » n
following must be false? which of the

(A) P is at the second place
(B) Pisat the third place
(C) Pis at the fourth place
(D) P is at the first place

P,Q,R 3R S B W& o § o 21 weg
R 3R STH W T 45 | Q e I
®R W T B GBA, D P ¢ P
e BT AIfey?

(A P fadia wmg w g
(B) P JAiId I WX
© P 7 I w E

(D) P 9oH ¥IH W ¥

Read the following information carefully to
answer the question given below-

(i) PxQmeans P is brother of Q

(ii) P + Q means Q is mother of P

(iii) P - Q means Q is sister of P

(iv) P + Q means P is father of Q

Which of the following means T is nephew
of R?

(A) RxJ+TxK
©T+]-P+R

B)R-M+T-]
D) Px]+T-R

frafaied TSN P eaFgdd UgH Ad
fay wed BT SR AR —

(i) Px QT 31f & P, QT 91 ¥

(ii) P+ QT aref & Q, P A &1

(iii) P~ Q@7 ief & Q, P& 9 &1

(iv) P+ Qa1 &f & P,QF famehl €1
frfofag & & faer aef € & T, R @1
e 87 '

(A) Rx]+TxK (B)R-M+T-]
©T+j-P+R O Px]+T-R

If two circles [x--l.]2'+(y-3]2=rZ and
x*+y?-8x+2y+8=0 intersect in two

* distinct points, then-

(B)r=2
D)2<r<8

A)r <2
©r>2

® A ga (x-1'+(y-3)F
X2 +y? - 8x + 2y + 8= 0 Q1 A==
R yfregg #ed 8, @l —

A r <2 (Byr=2
©r>2 D)2<r<8

fargatt

_____________—’_-_'__—'____________——-—-—

106-A 4
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52.

53.

T Tz v |

T TL LTI T

55.

T AT |

9 of 16

S (M) 4

f 1-sinf |
The value of [T—1s -

(A) tan 6 (B) secd
(C) sec®+ tan B (D) secH-tan®

1 -si.nﬂ &1 T g_ -~
\’ 1+ sinf
(A) tan © (B) sec @
(C) secH +tan O (D) sec 0 -tan @

If the selling price of 16 items is equal to the
cost price of 20 items, then profit or loss

- percent is -

(A) 25% Loss
(C) 20% Profit

(B) 20% Loss
(D) 25% Profit

uf%16mﬁsﬁszam51a 20 Tt B Ha

| e B IR B, ° @R ar g gfererd @ -

(A) 25% BIfA (B) 20% =1+
(C) 20% o™ (D) 25% &m™

The probability of a shooter hitting a target
is 0.75. How many minimum number of
times must he/she fire so that the

" probability of hitting the target at least once

is more than 0.997
(A) 4
(€) 3

P e @ aea-ded @1 gifdear 0.75
2| 98 9 ¥ FH fbaAl dR el TE
e P HH Y FH TP aR A DI FIASAT
0.99 % wifdrF B?

(®)2
(@1

®) 2
© 3 © 1

3
In an office, - of total employees are females

and rest are males. If % part of females and i

part of males are absent, then what part of
total employees are absent?
(A) 12 part (B) 17
30 29
(D) 2
30

part

© .
o part part

T TRt i, Fe HHERE @1 2 W AR
& qorr 919 GOy ¥ | Y ARSI BT > AT TR
| iﬁmr srquferd &1, A1 B HHAIRET
@1 i Wi aruRer 87 '

(A) 51”” (B) Z ayay

© 29
(C) (D) 23
a0

:‘mqm




56.

X" can complete a work in 14 days and ‘Y’ can

complete in 21 days. They begin together but
3 days before the completion of the work, ‘X’
leaves off. What is the tota) number of d
complete the work? - ‘
(A) 3

5

ays to

days (B) 9% days

(C) 10% days (D) 3% days

X UE FE B 14 RT F o v w9 21 R
RIS E L T ) SRS O S——
IR B €, W B qof B 3 R e
X P IS <@ 8| B @Y gt @Ry F
Tt & @ o W qr @7

@) 62 o ®olpy
© 102 fam ®) g2

57. If a, b, ¢ are in arithmetic progression and
X, ¥,z are in geometric progression, then the
value of X< y©2 z;‘b_ is equal to -
wo ®1
(C) xaybze (D) xyz
ﬁﬁ a, b, cHaFR St # 8 ek X.y,zTﬂﬁ
#07 # BY, A xP=C o2 73-b 7 A qRER B B
(A) o (B) 1
(C) xaybze (D) xyz

8. Suppose V= 2i+j—kandw=1+3k If
U is unit vector, then the maximum value of
scalar triple product [ﬁ'ir'_\ir"] is -
(A) 10+ 6 (B) /59
(€ 1 0) /5
AT V=214 -k 3R W=143k afz g
[(9W] 3 sfme am & -
(A) Y10 +6 B) V59
© -1 © 6

106-A 1
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59. What is the unit digit in product of

61.

Page 10 of 16

(4387)%% x (621)7%?
) 7
(C) 2

(B) 5
(D) 1

(4387)245 % (62‘1)72 a\; W ﬁ m 3]_‘5
CUIR

(A) 7 (B) 5
-(C) 2 (D) .1
The value of 12+ 32+ 52+ 72+ ........ +192js -
(A) 1430 (B) 1230
(€) 1530

(D) 1330

124324524 724 . +192H1 919 & —

(A) 1430 (B) 1230

(C) 1530 (D) 1330

Read the statements carefully -

I-The Governor shall declare that he
reserves the Bill for the consideration of

the President. [Article-200]

II -'The President may direct the Governor
to return the Bill to the house.

[Article-201]

Which of the following option is correct?

(A) Only statement I is correct.

(B) Only statement I1 is correct.

(C) Both statements I & II are correct,

(D) Both statements I'& Il are incorrect.

o Y e R

II-W,Wﬁ%%éWﬂ%
® ARE B g gy der 2
(3rfesa—201) '

Pt 4 9 -1 Ry gy 20

(A) Baet T 1w

(B) et por 11wy 3, CE

(C)IWIIR’I'-TTW@?*

tDilwllﬁmmmg'



62

64,

Extension of Sch'edule.d Ar
re]ated to -

(A) Education

ea Act-1996 is

(B) Panchayat Raj Empov\..rer.n-nent
(C) Cultural development

(D) Extension of reservation area

How many general elecl;.ions of Rajasthan
Legislative Assembly have been held till
20187 ’

(A) 14 R
) 16 &
© 15 '
(®) 13

2018 T o RurEEwr & e
gATE W B gD 87

() 14 o

(B) 16

(€) 15

(D) 13

In  which year the District Rural

Development Agency (DRDA) has been
merged with Zila - Parishad in Rajasthan?
() 2003

(B) 2008

(©) 2005

(0) 2001

T § feg ad foren awEior fadTE
afaor (G oY) @1 e forer aRwg
faa o 27

(&) 2003

(8) 2008

(©) 2005

©) 2001

106-A 0
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65. Who among the following Chief Minister

67.

had to resign after the Deeg shootout and
when did he resign? '

(A) Shiv Charan Mathur ; Feb 2314, 1985

(B) Jagannath Pahadia ; July 13, 1981

(C) Haridev Joshi; Jan. 20, 1988

(D) Mohan Lal Sukhadia ; Feb 16th, 1980

frer % @ 59 qrrE & S - Nedate @
feam?
(A) f3ra =Ror "R ; 23 HRE9, 1985

* (B) W=y URIfEAT ; 13 s, 1981

(©) &Rea el ; 20 w=adl, 1988

(D) wrg= elel a@Iar ; 16 wvaxl, 1980
To whom does the Lokayukta present the
annual report in Rajasthan?

" (A) President

(B) Chief Minister
(C) High Court
(B) Governor

R § e afts wRee e
IR R 27

(A) RTezafey

(B) HewAY

(C) T=a =TT

(D) ToaTe

How many times the elections of Panchayati

. Raj Institutions have been held till the year

20207

(A) Nine times
(B) Ten times

(C) Five times

(D) Eleven times

af 2020 TF ISR H GARARS SR
@ fere el AR g Al fbg wg?
(A) 9 ar

(B) 10 4R

(C) 5 ar

(D) 11 4R
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68.

69.

“106-A 0

Which of the following statement is/are

correct about the Rajasthan State Women

Commission?

(i) The chairperson and members are
appointed by the Governor.,

(ii) The commission was formed on 15 May,
1999.

(iii) It is a non-constitutional and advisory
body.

(iv) Its function is to hear and investigate
complaints related to harassment of
women.

(A) i, ii, iii

(B) i, iii, iv

©4 i

(©) 4, ii, iii, iv

RUSEC IR 1 L T 15 B

T /P AT T B/

(i) ST & Srewer T wewdl B PR
ST HRAT T | _

(ii) ST BT TS 15 7S, 1999 B g2l |

(i) 7 TR—wdufe 9 wrEfEr frem 2|

(iv) 39a1 & Afgen Iafied | el
TS FAAT qAT DT W BAT B

(A) i; ii, iii

(B) ii, iii, iv

(C) i, ii

©) i, i, iii, iv

In which Article of Indian Constitution the
definition of "Gram Sabha” is mentioned?
(A) Article - 243C

(B) Article - 243

(C) Article - 243A

(D) Article - 243B

ARATI AfAUME & B1a sigaye § Cam A
1 g 87

(A) a/g=ae — 2437

(B) arg=se — 243

(C) erede — 243

(D) srf=0e — 2439

- 70.

106

1063226431 1061226431

Where is the Rajasthan Civil Services
Appellate tribunal located?

(A) Jodhpur

(B) Bikaner

(C) Jaipur

(D) Bharatpur

TroTeerT Rifaer dar ardret Afasor Haf Reg
27
(A) SRR

(B) fidrIw .
(C) SrIgR ﬁ
(D) R

In context of flow chart symbols, choose an
invalid pair -

(A) Rhombus, Decision

(B) Triangle, Terminal

© Rectangle, Processing

(D) Parallelogram, Input / Output

geAraTe geditpl & wa # i g &1 9ae

BIFTY —

~ (A) wHEgHY, o

(B) faryei, =ffer
(©) 3, iR
(D) ¥R wq, 99T / SSege

* Let the currently selected/active MS Excel
- cell is M130, on pressing “Home” button on

keyboard, selection will move to which of
the following cell?

(A) A130
(B) M1

-(€) A1

(D) No movements

A R R e
Ael M130 2, #1-91E e g geq Tq W
AUV A R fry e ur e srenr? '
(A) A130

(B) M1

(C©) A1

(D) BT THATT gy

New Section 1 Page 11

Page 12 of 16




B In which generatiop, tran

(A) First sistor was used? 77. In context of Internet news groups, ..............
(B) Fourth deals with rules of framing messages that
(C) Second will not hurt others.
(b) Third M (A) telnet ((B) netiquette
e O ¥ Tiftrey . ‘ (C) web server (D) net neutrality
(A}ueﬁ WA F w97 -
®) = ”41 greve W g @ wed 6
() e :'_(;j TERI Y AEd T B Al HGewd aAH D
(O) g ™ fmit @ el 2
74. Ina PowerPoint presentation - EE‘ (A) Zorie (B) “érae
(A) F?.oth sound clips and movie clips can be T (€) 99 — §R (D) we =gziferé
inserted dee g - . _
(B) Sound clips cannot be inserted 4> ™ When was vacuum tube invented?
-(C) Nei'ther sound clips nor movie clips can Cg, (A) 1900 _{B} 1910
be inserted o ©a1880 (D) 1906
(D) Movie clips cannot be inserted e
T e SR # — < ﬁa{qa@wmmﬁmw?
(A) afy fere iR Fafers R Qi ufie (A) 1900 () 1910
PN WhA § 4~ (01880 (D) 1906
m ™ . .
®) Eﬂﬁ afae 7E % “.a“‘ c;r 79. Which of the following produces the best
= Eﬁ; ?ﬁ & T e vl EEI‘ quality graphics reproduction?
TN L
, 3= (A) Dot matrix (B) Plotter
g
(D) Faf foered wfase 8 &% wad & orinter
75. Which of the following is not a type of hard o
disk? . ' 1. (C) Inkjet printer (D) Laser printer
(A) Winchester (B) Disk Pack o .
(€) Shockley (D) Bernoulli 4 P F P GeH S TORH HT MHaE
e RorewE Safka v 87
frer 3 & BT BT 3% BT T YR T &~ L N
0 _ ' o ) Sfe Agew e (B) wifew
(R) oo (B) fevw U@ g (C) Epuie fiiex (D) arar fife
% (©) wifared (D) FIe 4~ 80. In context of MS Word-2019, keystroke
' ‘;_Vhifh language is bemgf}l:ﬁd as the b;sls ~“Ctrl + Shift + F5” is related to -
or t eneration
Cﬂmlnut:eis? Japanese 11 ¢ (A) mail marge (B) macros
(&) ALGOL (B) COBOL (C) bookmarks (D) footnote
©c (D) PROLOG
‘ i ﬁrﬂ - wow, 92019 @ W A RIS
a mmw; i wf} faram 1 <1 &7 sCrl + Shift + F5" v & —
(&) ALGoL (B) COBOL DECRER (B) A1t &
©c (D) PROLOG (©) g & (D) it 9
106-A D Page 13 of 16
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81- One whose only motive is to earn money is:
(A) Spendthrift () Vagabond
(C) Extravagant (D) Mercenary

82.

Select the correct sentence from the given
options which rightly transforms the Direct
speech sentence in reported speech -

Sentence: She said to me, “I thought I heard .

you coming down the stairs”.

(A) She told me I thought she had heard me
coming down the stairs,

(B) She told me she thought she had heard
me coming down the stairs,

(C) She'told me she thought she had heard
her coming down the stairs,

(D) She told me she thought I had heard her
coming down the stairs.

83. Change into passive voice :

There is no form to reject.

(A) There has been no form to get reject.
(B) There is no form that was rejected.
(C) There was no form rejected.

(D) There is no form to be rejected.

84. Fill in the blank space in the sentence by

choosing the correct form of the verb/tense
from the given options -

“As ‘soon as she ...the book, she
informed the publisher.” .

(A) has finished (B) finishes

(C) had finished (D) finished

85. Match the words in (A) with their synonyms

in (B):

(A) Words

(a) Amend

(b) Revamp

(c) Enhance

(d) Diminish

(B) Synonyms

(i) Rebuild

(ii) Increase

(iii) Reduce

(iv) Modify’

(A) a:(ii), b-(i), c-(iv), d-(iii)
(B) a-(i), b-(iii), c-(iv), d-(ii)
(©) a-(ii), b-(i), c-(iv), d-(iii)
(D) a-(iv), b-(i), c-(ii), d-(ii)

86.

87.

Out of the following proverbs, which one is
correctly framed or does not have any error
in its form:
(A) As you sow, you shall so reap
(B) A stitch on time saves nine
(C) Birds of feathers together flock
(D) Make hay while the sun shines
Match the items in column (A) with
appropriate items in column (B) so as to
form meaningful sentences :
‘Column - (A)
(a) If you had tried..........
(b) Unless you tell me the truth.........
(c) If you are going abroad..........
(d) Do you know.......

Column - (B)
(i) ......whether the match has been
postponed. ;
(ii) -eeryou'll need a lot of money.
* (iii) voovessneeee 'l DOt let you go.
{iv) .cccccee..you wiould have succeeded.

(A) a-(i), b-(ii), c-(iv), d-(iii)

(B) a-(iv), b-(iii), c-(ii), d-(i)

(C) a-(ii), b-(iii), c-(i), d-(iv)

(D) a-(iii), b-(ii), c-(iv), d-(i)

Fill in the blank with the correct article :

He works in.........cnm. LLC, of India.
(A) zero (B) the
(C) a (D) an

Choose the correct alternative from the
given options to fill in the blank Space in the
sentence -

" “She is ....ccccoveennenthan her sister.”

(A) very pretty
(B) most pretty o
(C) more prettier m
(D) prettier

Fill in the blank with the most a
phrasal verb :

How did you........
diamond?

(A) come by

(B) come around

Ppropriate

weee (COMe) that rare

(C) come with

(D) come down

106-A 0
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W s — @ soea,
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c 2 _ -
(©) for — erdor O R fr
© o1 — sem 00. .
_ 100. “qdet o gl TR B Ry SENESIERIE it
”-ma%q&ﬁa\gﬁ‘mﬁmm—' SR raref & —
A) gy + w1 = gty - ) @ e X B Ry e
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